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ADVANCED COST ACCOUNTING
Time : Three Hours ] [ Maximum Marks : 80

S (i) IOF FHE H GAF F99 1 YT 3 TF o Sfrergi’t
Tv7 &, 7795 ST T& 1 & G A Qg
Part A and B of each question in each Unit consist
of very short answer type questions which are to
be answered in one or two sentences.

(ii) F&F F97 % U G (TLRIT F97) (VI AT 200-
250) 9 97T T (T 30T 999) & W [RIFEAR I
A (400-450 v1=)) F 7 S
Part C (Short answer type) (Word limit 200-250)
and Part D (Long answer type) of each question
should be answered within the word limit (400-450

words) mentioned.

(Unit-T)

1. (37) o= «re fafy = g 2 2
What is operating costing ?

P.T.O.

()

(®)

()
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What is service costing ?

qfided @l oI@ichd H AN hi RS hd
fauifea st S & 2 4

How do you decide the unit of cost in case of

transport costing ?
3UAT

Or

g AT HenTad i Hec odrsy |

What is importance of calculating operating cost ?

AT AN ok & Sevd ol & 2 AT
orma fafy 5 o9 e &) s H9 v
A ? 12

What are the objects of Transport Costing ? How

will decide the unit of cost in Transport Costing ?
AT
Or

T8 2015-16 & 71 3ifhsi § HARYR guA
ek WI¥E gR1 Scaifed foga &t 9fd s
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fehailale @NTd G3Td U Ueh URETe @it I

GRIESCIIE L

H Scaled Sl 100000 kWh
U= oH T 5,000
TG Ud STRET0 3 5,000
a9 = 3 4,000
e e T 3,000
YR 3" T 2,000
EARK| 3 5,000
L] 3 1,000
2IE| 3 1,000

From the following data prepare operating cost-
sheet showing the cost of electricity generated
per unit kWh by Maheshwar Thermal Power
Station for year 2015-16 :

Total units generated 100000 kWh
Operating Labour % 5,000
Repairs and Maintenance I 5,000
Oil and Stores 3 4,000
Plant Supervision X 3,000
Adm. over heads < 2,000
Coal < 5,000
Depreciation X 1,000
Interest < 1,000
[ 3] P.T.O.
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2. (37) 9 NG § A9 = THIA © 2 2

What do you understand by marginal costing ?

() oo F1 ¥ 2 2

What is Variance ?

(W) fa¥esr @a IR 3TMd Ard H 3T’ kil | 4

()

Distinguish between differential cost and

opportunity cost.
AT
Or

" oye TR AT (o) SR SHERT o=
1 Tmft, gm it Sufterm & gey A ™
HYT 1 ==l HIf |

“The basic variance are acquisition (price) and
usage variances”. Discuss this statement in

relation to material, labour and over heads.

A AN H ARt T foeRomer SR wnEt
YT fI=ROMY & RN i AR FiGW | 12
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Explain the possible causes for material price
variance and material usage variance in standard

costing.
e

Or

e faftator gfasem fSsam aes <rma ol 19
%, frafafaa SFel v ga &t © ¢

T
70 fohell TR 3g & fog
qreEft 100 foret
Il 6 Hed % 1 9fdq feren
qrdfaeh
I 210000 feren
A g 280000 ferett
Rl &l Ard 252000

TUET hITST :
(31) |t 39 foeroe
() At Sia fa=rome
(9) |t armE foerome

[ 5] P.T.O.

3. (30)

(<)
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A manufacturing concern which has adopted
standard costing furnishes the following
information :

Standard :

Material for 70 kg, finished product 100 kg

Price of material X 1 per kg
Actual -

Output 210000 kg
Material used 280000 kg
Cost of material < 2,52,000

Calculate : (a) Material usage variance
(b) Material price variance
(c) Material cost variance

gaRTe-I11

(Unit-TIT)

aotelt =0 & o SeeE € ? 2
What are the objective of budgetery control ?

e ool H T Wi Wd SFTaH ) ofe |
S Ieel I | 2

Mention five item each of receipt and payment

in cash budget.
[ 6]
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(H) feer d9e 3R <= o5l H 3= hifsw | 4

()

Distinguish between fixed budget and flexible
budget.

3qAr
Or
SIS ol IR HifSTT 3TR 3HH IR STavaH
dcd ddizy |

Define a budget and give its four essentials

elements.
Yhs oo F & ? Uhg o6 dIR Hid hi
fafy= fafemr =1 avia wifsw) 12

What is cash budget ? Describe the various
methods of preparing cash budget.

37T
Or

fAfafEd Fasll & YR | 3IdkRd & fag
80% 3R 100% Tfafafyy W T o=icll s
TR HifST

fa e 3
T 35
a9 15
TRedTeia sufem 10
[ 7] P.T.O.
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TR 39RETa T 40,000 8
B ECRENI IR DR [ 5
fawa =3 20% fer 8
TEMEES =9 320,000 4
famo =23 30% TR 5
90

frafafed S TR & fau sere @R ST .

(31) 4000 If= 3R () 3000 IfTe FeTATR
= Tt I TR W THE |

The budget expenses for production of 5000 units

in a factory are given below :

Per unit X
Material 35
Labour 15
Variable overheads 10
Fixed overheads ¥ 40,000 8

Variable exp-direct 5
Selling Expenses 20% Fixed 8
Administrative Exp. ¥ 20,000 4
Distribution Exp. 30% Fixed 5

90

Prepare a budget for production of : (a) 4000
unit and (b) 3000 units. Assume that
administration expenses are rigid for all levels

of production.
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TV 3teran
(Unit-1V) Or
: Frefafea gamsti 9 fadert sew Jen &t
4. (31) AN@ H KA B qRIG RIS 2 , :
O RIfSTT qen s | 53 S Al STeEn i
Define cost reduction. T | hifeld
() fodert sw 7o &0 § 2 2 AAEF AT 40000 TTe
gt st ANt 9fd geRts 3 80
What is economic order quantity ?
T AR T Dl AN 3 100
(¥) @ e oI ara # @ S ST T e B 10% i T it SR @ |
RITSTE | 4 Calculate the Economic order quantity and no.
Make distinction between cost control and cost of orders to be given in a years :
reduction. Annual requirement 40000 units
Cost of material per unit < 80
e
Cost of placing an order % 100
Or
Annual carrying cost of one units 10% of
T SR A & T 7 Inventory value.
What is normal and abnormal wastage ? 00000d00000

(g) o I we @ # it ghfa SR SRR
i A BT SH H T DA T8 T2 12

Explain the nature and scope of cost control and

cost reduction ? Which of the two is superior ?

[ 9] P.T.O. [ 10 ] 10/25



